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Analogy

In 'Completing The Analogous Pair', two words are given. These words are related to each
other in some way. Another word is also given. The candidate is required to find out the
relationship between the first two words and choose the word from the given alternatives,
which bears the same relationship to the third word, as the first two bear.

Moon . Satellite . : Earth . ?

A.Sun  B.Planet C. Solar System  D. Asteroid

Answer: Option B

Forecast . Future . . Regret . 7
A Present  B.Atone  C.Past D. Sins
Answer: Option C

Influenza . Virus . . Typhoid . ?
A. Bacillus B. Parasite C. Protozoa D. Bacteria

Answer: Option D

Fear . Threat . . Anger . ?
Options:
A. Compulsion  B. Panic C. Provocation  D. Force

Answer: Option C

Melt : Liquid : : Freeze . ?
A.Ice  B.Condense C.Solid D.Crystal
Answer: Option C

Clock : Time : . Thermometer . ?
Options:
A . Heat  B.Radiation  C.Energy  D.Temperature

Answer; Op’[lon D r EDFE‘GHZ‘- APP ON
oogle Play
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Muslims : Mosque : . Sikhs . ?

A. Golden Temple  B.Medina  C. Fire Temple  D. Gurudwara
Answer: Option D

Paw . Cat . . Hoof : ?
A .Horse B.Lion C.lLamb  D. Elephant
Answer: Option A

Eye . Myopia . : Teeth . ?
A. Pyorrhoea  B.Cataract  C.Trachoma  D.Eczema

Answer: Option A JOIN OUR GROUP ON

Tractor : Trailer . . Horse . ? Face boo k

A.Stable  B.Cart C.Saddle D.Engine

Answer: Option B

Scribble : Write . . Stammer . ?
A.Walk  B.Play C.Speak  D.Dance
Answer: Option C

Flower . Bud . : Plant . ?
A Seed B.Taste C.Flower D.Twig
Answer: Option A

Errate . Books : . Flaws : ?
A. Manuscripts ~ B.Metals  C.Speech  D. Charter
Answer: Option A

Gun . Bullet . . Chimney . ?
A. Ground B. House C. Roof D. Smoke
Answer: Option D

Breeze : Cyclone : . Drizzle : ?
A. Earthquake  B.Storm  C.Flood  D.Downpour
Answer: Option D
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Car . Garage : : Aeroplane : ?
A.Port  B.Depot C.Hangar D.Harbour
Answer: Option C

Race : Fatigue . . Fast . 7
A.Food  B.Appetite  C.Hunger  D. Weakness
Answer: Option C

Candle : Wax . . Paper : ?
A.Wood B.Tree C.Bamboo  D.Pulp
Answer: Option D

Acting . Theatre . . Gambling . ?
A.Casino B.Club C.Bar D.Gymn
Answer: Option A

Venerate : Worship : : Extol . ?
A.Glorify  B.Homage  C.Compliment  D.Recommend
Answer: Option A

Water . Convection . . Space : ?
A. Conduction B. Transference C. Vacuum D. Radiation

Answer: Option D

Growth : Death . . Increase : ?
A. Ease B. Decrease C. Tease D. Cease

Answer: Option B

Oxygen : Burn . . Carbon dioxide : ?
A.Isolate  B.Foam  C.Extinguish  D. Explode
Answer: Option C

Dog : Bark : : Goat .?
A . Bleat B.Howl C.Grunt D.Bray
Answer: Option A

ANDROID APP ON

P> Google Play

www.amkresourceinfo.com



http://www.amkresourceinfo.com/
https://play.google.com/store/apps/details?id=amkresourceinfo.com

A M K RESOURCE WORLD GENERAL MENTAL ABILITY

Grain . Stock : . Stick : ?
A.Heap  B.Bundle C. Collection D. String
Answer: Option B

Nurture . Neglet . . Denigrate . ?
A.Reveal B.Extol C.Recognise  D. Calumniate

Answer: Option B

Planet . Orbit . . Projectile : ?
A.Trajectory  B.Track  C.Milky Way  D. Path
Answer: Option A

Genuine : Authentic . . Mirage . ?
A.Image  B.Transpiration  C.Reflection  D. Illusion

Answer: Option D

Cobbler : Leather . . Carpenter . ?
A. Furniture  B.Wood  C.Hammer  D. Chair
Answer: Option B

Rupee : India . . Yen . ?
A. Turkey  B.Bangladesh  C.Pakistan  D. Japan
Answer: Option D

ANALOGY 1

Doctor is related to Patient in the same way as Lawyer is related to ?
A.Customer  B.Accused  C.Magistrate  D. Client
Answer: Option D

Museum is related to Curator in the same way as Prison is related to ...
A. Manager  B. Monitor  C.Jailor = D. Warden
Answer: Option C

Soap is related to Wash in the same way as Broom is

ANDROID APP OM

related to ... r Gcogle Play
A.Clean B.Dust C.Sweep  D. Floor

Answer: Option C
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Wax is related to Grease in the same way as Milk is related to ...
A.Drink B.Ghee C.Curd D.Protein
Answer: Option C

Bread is related to bakery in the same way as Brick is related to ...
A.Mint  B.Kiln C. Furnace D. Mine

Answer: Option B

Sword is related to Slaughter in the same way as Scalpel is related to ...
A.Murder  B.Stab  C.Surgery  D.Chopping
Answer: Option C

Life is related to Autobiography in the same way as Witness is related to ...
A. Papers B. Truth C. Documents D. Acceptance
Answer: Option C

Chef is related to Restaurant in the same way as Druggist is related to ....
A. Medicine  B.Pharmacy  C.Store  D.Chemist
Answer: Option B

Jade is related to Green in the same way as Garnet is related to
A Blue B.Orange C.Red D. Yellow
Answer: Option C

Dancer is related to Stage in the same way as Minister is related to ...
A Pulpit  B.Assembly  C.Parliament D. State

Answer: Option A

Ecology is related to Environment in the same way as Histology is related to ...
A.Fossils  B.History  C.Tissues  D.Hormons

Answer: Option C
JOIN OUR GROUP ON

Life is related to Death in the same way as Hope Face boo k

is related to ...
A.Sad  B.Despair C.Pain  D.Cry
Answer: Option B
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Hooke is related to Cells in the same way as Mulder is related to ...

A. Carbohydrates  B. Minerals  C. Vitamines  D. Proteins
Answer: Option D

Needle is related to Thread in the same way as Pen is related to ...
A-Ink B.Cap C.Paper D.Word
Answer: Option A

Sword is related to Slaughter in the same way as Scalpel is related to ...
A. Sculptor  B.Cobbler  C.Chef  D.Mason

Answer: Option B

Birds is related to Aviary in the same way as Bees is related to ...
A. Aquarium  B.Hive  C.Brewery D. Apiary
Answer: Option D

Resign is related to Politician in the same way as Abdicate is related to ....
A.Prince B.King C.Realm  D.Throme
Answer: Option B

Scissors is related to Cloth in the same way as Scythe is related to
A. Wood  B.Steel C.Grass D.Paper
Answer: Option C

Gardener is related to Trowel in the same way as Seamstress is related to
A.Saw  B.Scissors  C.Sneakers  D.Crowbar

Answer: Option B

Prose is related to Writing in the same way as Lisp is related to

A. Reading B. Music C. Speech
D. Drawing JOIN OUR GROUP ON

Answer: Option C Face b o 0 k

Cub is related to Tiger in the same way as Fawn is related to
A . Stag  B.Monkey C.Ass  D. Sheep
Answer: Option A

www.amkresourceinfo.com



http://www.amkresourceinfo.com/
https://www.facebook.com/groups/191608478267262/permalink/204250033669773/

A M K RESOURCE WORLD GENERAL MENTAL ABILITY

Sirius is related to Star in the same way as Cygnus is related to
A. Constellation  B. Asteroid  C. Galaxy  D. Meteor
Answer: Option A

Radical is related to Moderate in the same way as Revolution is related to
A.Change  B.Chaos C.Peace  D. Reformation
Answer: Option C

Mathematics is related to Numbers in the same way as History is related to
A. People  B.Events C.Dates D.Wars

Answer: Option B

Bag is related to Luggage in the same way as Ship is related to
A.Coal B.Stock C.Cargo  D.Weight
Answer: Option C

In 'Choose The Analogous Pair’ type, a pair of words is given, followed by four pairs of

words as alternatives. The candidate is required fo choose the pair in which the words bear
the same relationship to each other as the words of the given pair bear.

Numismatist . Coins
A Philatelist . Stamps  B. Jeweller : Jewels  C. Cartographer : Maps  D. Geneticist -
Chromosomes

Answer: Option A

Agenda . Meeting

A. Programme : Function B. Performance . Ticket C. Map . Scale D. Footnote -
Article

Answer: Option A

Embroider . Cloth

A. Patch . Quilt  B.Stain.Glass  C.Carve . Knife  D. Chase . Metal

Answer: Option D

AMDROID APP OM

Defunct . Life r Google Play
A. Stagnant . Motion B. Orderly . Pattern C. Arid

Desert  D. Obese : Weight
Answer: Option A
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Knife . Chopper
A. Walking . Fitness ~ B. Swim . Float  C. Scissors: Cloth ~ D. Quilt : Blanket
Answer: Option D

ANDROID APP ON

P> Google Play

Train . Track
A.Idea . Brain B. Bullet . Barrel C. Water : Boat D. Fame . Television

Answer: Option B

Surgeon : Scalpel
A. Musician : Instrument B. Carpenter : Cabinet C. Sculptor : Chisel D. Baker -
Oven

Answer: Option C

Yawn : Boredom

A. Anger . Madness B. Dream . Sleep C. Smile : Amusement D. Impatience
Rebellion

Answer: Option C

Cells . Cytology

A. Worms : Ornithology  B. Insects : Entfomology  C. Diseases : Physiology
D. Tissues : Morphology

Answer: Option B

Elevated . Exalted
A. Dirty . Filthy  B. Disorderly : Unfaithful = C. Raise . Commensurate D. Promoted -

Excellence
ANDROID AFPP ON

Answer: Option A r G
oogle Play

Birds : Aves
A Fish . Water ~ B. Whale : Fish ~ C. Lizard : Insect =~ D. Man . Homosapiens
Answer: Option D

Curtain . Drapery
A. Cockroach : Insect B. Bedsheet : Bed C. Pillow : Cushion D. Mat . Floor
Answer: Option A
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Badminton . Court
A. Hockey : Stick  B. Cricket:Bat  C. Skating:Rink  D. Football . Goal
Answer: Option C

Crache . Infants
A. School : Pupils  B.Bedlam : Lunatics  C. Deck: Sailors  D. Cottage : Beggar

Answer: Option B
Dusk : Night
A. Afternoon : Evening  B. Infant. Child  C.Walk:Run  D. Day : Light

Answer: Option B

Triangle . Hexagon

A. Cone . Sphere B. Rectangle . Octagon C. Pentagon . Heptagon D. Angle -

Quadrilateral

Answer: Option B

Teeth . Chew
A. Mind . Think  B. Sweater . Heat ~ C.Food :Taste  D. Eyes. Flicker
Answer: Option A

Cat . Mouse
A. Horse . Stable  B.Trap.Cheese  C.Bird: Worm  D. Lion : Cage
Answer: Option C

Cereals : Grit
A.Dal . Pulses  B.Milk:Sugar  C.Pulses: Metanil =~ D. Haldi : Turmeric
Answer: Option C

Balance . Weigh
A. Aeroplane : Height ~ B. Radar . Detection  C. Satellite . Revolution  D. Television
. Picture

Answer: Option B

Shield . Soldier
A. Law . Court  B. Stethoscope . Doctor ~ C.Helmet: Rider = D. Book . Rider
Answer: Option C
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Chaff . Wheat
A.Bone:Flesh  B.Blood:Vein  C.Dregs: Wine  D.Rubbish . House
Answer: Option C

Theft . Confess:.
A Fight . Dare  B.Fault. Admit  C. Murder. Commit  D. Mistake . Agree

Answer: Option B
Fish . Shoal
A. Shark : School =~ B.Whale:Herd  C.Elephant.Flock  D. Audience : Theatre

Answer: Option A

Canvas . Painter
A. Leather . Shoe  B.Chisel . Wood  C. Marble : Sculptor =~ D. Hammer : Carpenter

Answer: Option C

In Choose A Similar Word type, a group of three words is given, followed by four other

words as alternatives. The candidate is required to choose the alternative, which is similar

to the given three words.

Calf . Kid : Pup
A Infant  B.Young C.larva  D. Animal
Answer: Option C

Ohm . Watt . Volt
A.Light  B.Electricity =~ C.Hour  D. Ampere
Answer: Option D

Peas . Gram . Pulses
A.Rice  B.Barley C.Beans D.Coconut
Answer: Option C
ANDROID APP ON

Jute : COttOI‘l : WOOI * GGOQIE Play
A.Terylene  B.Silk C.Rayon  D.Nylon

Answer: Option B
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Diamond . Sapphire : Ruby
A . Gold B.Silver C.Emerald D.Bronze
Answer: Option C

Clutch . Brake . Horn
A. Scooter  B.Steering  C.Car  D. Accident

Answer: Option B

Potato . Carrot . Raddish
A.Tomato  B.Spinach  C.Sesame  D. Groundnut

Answer: Option D

Canada . Chile : Germany

A.Spain  B.Paris  C.Chicago  D. Ottawa
Answer: Option A

Violet . Orange : Yellow
A Purple B.Blue C.White D.Pink
Answer: Option B

Marble . Slate . Gneiss
A. Quartzite  B.Limestoe @~ C.Coal  D. Sandstone
Answer: Option A

Choose similar word

Hair . Grass : Fur
A. Feather B. Cloth C. Wood D. Leather
Answer: Option A

Pituitary . Thyroid . Pancreas
A. Adrenal  B.Heart C.Liver  D.Kidney
Answer: Option A

Liver . Heart : Kidney
A.Blood B.Nose C.Lung D.Urine
Answer: Option C
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Shark . Cod : Eel
A. Whale  B.Dolphin C.Fish  D. Oyster

Answer: Option B

Sodium . Potassium : Zinc
A. Sulphur  B.Calcium  C. Water  D. lodine

Answer: Option B

Root : Stem : Branch
A. Wood B. Leaf C. Tree D. Fertiliser

Answer: Option B

Patna . Bombay : Dispur
A.Cochin  B.Trombay  C.Udaipur  D.Madras
Answer: Option D

Basket : Pail . Pan
A.Spoon  B.Bowl C.Fork D.Knife
Answer: Option B

Edge : Corner . Tip
A Snow B.Hill C.Brink D.Cap
Answer: Option C

Hokaido . Honshu : Shikoku
A. Madagascar ~ B.Kyushu  C.Shanghai  D. Sikiang
Answer: Option B

In Detecting analogies questions, the candidate is required to trace out hidden analogy or

common characteristic among given words or to choose word which possesses the same

characteristic as the given word.

Sandstone . Limestone . Coal
A. They are formed by metamorphic rocks.  B. They are chemical minerals.  C. They
are found in river beds.  D. They are formed in sedimentary rocks.

Answer: Option D

www.amkresourceinfo.com
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Analects : Zend Avesta . Torah

A. These are places of worship. B. These are three sects of Muslims. C. These are
names of religions.  D. These are names of religious books.

Answer: Option D

Mars : Mercury : Venus
A. They have no opposite motion. B. They are evil planets. C. They are the planets
nearest to the earth.  D. They have no corresponding lucky stone.

Answer: Option C

Gnu : Emu . Curlew
A. These are fast runners. B. These are birds. C.These are smal insects.
D. These are animal pests.

Answer: Option B

Chain . Link . Bridge
A. They all have hooks.  B. They are related with ornaments.  C. They join two parts.
D. The terms are related with prison.

Answer: Option C

Sweep : Scrub . Wipe
A. These are terms connected with rubbing. B. These are games of cards. C. These
are terms used by motor mechanics.  D. These are terms connected with cleaning.

Answer: Option D

Delhi : Agra : Methura

A. They have been capitals of the country.  B. They have exquisite temples. ~ C. They

have religious background.  D. They are situated on the bank of river Yamuna.

Answer: Option D

Knight . Rook : Bishop
A. These are missionaries. B. These are chessmen. C.These are churchmen.
D. These are ranks of military.

Answer: Option B
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Crocodile : Chameleon : Tortoise

A. They are reptiles. B. They have hard shells. C. They live near water. D. They
keep on changing colour.

Answer: Option A

Hiss : Hoot . Trumpet

A. They are sound made by certain creatures. B. They are joyous cries of children.
C. They are sound made by war-instruments. D. The terms are used in connection
with news.

Answer: Option A

Press . Television . Cinema
A. They are means of entertainment. B. They are means of mass media. C. They
give world wide news.  D. All are public undertakings.

Answer: Option B

Coments . Stars . Satellites

A. They are shining masses.  B. They give out light. ~ C. They are rotating from left to
right.  D. These are heavenly bodies.

Answer: Option D

Canoe : yacht . Dinghy

A. These are tribal people.  B. These are Famous clubs.  C. These are names of boats.
D. They are rest houses.

Answer: Option C

Rinderpest . Anthrax . Diarrhoea
A. These are diseases caused by bacteria. B. These are plant pests. C. These are
pathogens.  D. These are infection of stomach.

Answer: Option A

Yeats . Ghalib : Kabir
A. They were given Nobel Prize.  B. They were poets.  C. They were social reformers.
D. They were saints.

Answer: Option B

www.amkresourceinfo.com
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Vesuvius . Etna . Kilimanjaro

A. These are sites of vocanoes. B. These are hills of Italy. C. These are island
countries.  D. These lie in polar regions.

Answer: Option A

Hamlet . Macbeth : Faustus
A. They were kings. B. They are plays by Shakespeare. C.They are famous
characters from various dramas.  D. They are characters who were murderers.

Answer: Option C

Barauni . Digboi . Ankleshwar
A. They are famous for oil fields. B. They are famous religious places. C. They are
tourist places of South-India. ~ D. They are famous for handlooms.

Answer: Option A

Aorta . Pulmonary . Ventricle

A.They are the veins that supply blood. B. They are names of parts of heart.
C. They are related to lunge.  D. They are different section of food pipe.

Answer: Option B

Viper . Krait . Mamba
A. These are boot polishes. B. These are haunting spirits. C. These are snakes.
D. These are insects living in bushes.

Answer: Option C
ASSERTION AND REASON

Assertion (A4) . Bangladesh imports jute from India.
Reason (R) . Bangladesh has most of the jute mills.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option E

Assertion (A) . Carbon monoxide when inhaled causes death.

Reason (R) . Carbon monoxide combines with haemoglobin.
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A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ristrue.  E. Both A and R are false.

Answer: Option A

Assertion (A) .We feel colder on mountains than on plains.
Reason (R) . Temperature decreases with altitude.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) .Inside the earth metals are present in molten state.
Reason (R) : Earth absorbs the sun's rays.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) : There is no vaccine for AIDS.
Reason (R) . The AIDS virus changes its genetic code.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false.

Answer: Option A

Assertion (A) .In India, people elect their own representatives.

Reason (R) . India is a democracy.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) : Vaccines prevent diseases.

Reason (R) : Vaccines must be given to children.

www.amkresourceinfo.com
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A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option B

Assertion (A) . Downpour of rain lessens the humidity in the atmosphere.
Reason (R) : Rains are caused when atmosphere cannot hold more moisture.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option D

Assertion (A) . Unpolished rice should be eaten.
Reason (R) . Polished rice lacks Vitamin B.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false.

Answer: Option A

Assertion (A) . Bats fly i the night.
Reason (R) . Bats emit ultrasonics.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false.

Answer: Option A

Assertion  (A) .Razia  Sultan was the daughter of Iltutmish.
Reason (R) . Iltutmish was a rebel.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) : Silver is not used to make electric wires.

Reason (R) : Silver is a bad conductor.

17 | www.amkresourceinfo.com
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A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) . Gandhiji withdrew the non-cooperation movement.
Reason (R) : There was violence at the Chauri Chaura outrage.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) .Carbon forms the largest number of compounds.
Reason (R) . Carbon has the catenation property.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option D

Assertion (A) .Uttar Pradesh is called the 'Sugar Bowl' of India.
Reason (R) . Uttar Pradesh is the leading producer of sugarcane.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) : When the bus starts, the person inside it falls forward.
Reason (R) : The bus pushes the man forward.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option E

Assertion (A) : Glass tumbler breaks in winter when hot water is poured in it.

Reason (R) . When hot water is poured, the outer surface of glass expands.
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A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) . Carbohydrates provide energy to the body.
Reason (R) . Obesity is caused by excessive intake of carbohydrates.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) :In India, females have higher life expectancy than the males.
Reason (R) : Females receive a better diet.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false.

Answer: Option E

Assertion (A) : The Indian Constitution came into force with effect from 26th
January, 1950.
Reason (R) . 26th January is celebrated as the Republic Day.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option B

Assertion (A) :Appendix is a vestigial organ in human body.

Reason (R) . It does not participate in digestion.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option A
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Assertion (A) . Himalayas Once laid under the

Reason (R) . Fossils of marine creatures are traced on the Himalayas.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false.

Answer: Option A

Assertio (A) . Shivaji developed the guerilla warfare.
Reason (R) . Shivaji feared the Mughals.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option C

Assertion (A) . Legumes revive the soil fertility.
Reason (R) . Microbes in the root nodules of legumes fix the atmospheric nitrogen.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) :An atom is neutral despite the charged particles in it
Reason (R) : The neutrons do not have any charge.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false.

Answer: Option B

Assertion (A) :The steam engine was invented by James Watt.
Reason (R) . There was a problem of taking out water from flooded mines.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false.

Answer: Option A

Assertion (A) :Increase in carbon dioxide would melt polar ice.
Reason (R) . Global temperature would rise.
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A.Both A and R are true and R is the correct JOIN OUR GROUP ON
explanation of A.  B.Both A and R are true but Fa C e b 0 0 k
R is NOT the correct explanation of A. C.Ais

true but R is false. D. A is false but R is true. E. Both A and R are false.

Answer: Option A

Assertion (A) .Tamil Nadu gets most of the rainfall in winter.
Reason (R) : Tamil Nadu gets rainfall from retreating monsoons.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false

Answer: Option A

Assertion (A) . Graphite is slippery and wused as a lubricant.
Reason (R) . Graphite has free electrons.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false

Answer: Option B

Assertion (A) .In India, the judiciary is independent of the executive.
Reason (R) : Judiciary favours the government and helps in the implementation of
its plans.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but Ris true.  E. Both A and R are false

Answer: Option C

Assertion (A) : An iron ball floats on mercury but gets immersed in water.
Reason (R) . The specific gravity of iron is more than that of mercury.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but Ris true.  E. Both A and R are false

Answer: Option C

Assertion (A) . Copper is used to make electric wires.
Reason (R) . Copper has very low electrical resistance.
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A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D. A is
false but R is true. E. Both A and R are false

Answer: Option A

Assertion (A) : Uranium undergoes nuclear fusion reaction.

Reason (R) . It has a big, unstable nucleus.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false

Answer: Option D

Assertion (A) A little  gap is left between  iron  rails.
Reason (R) . Iron expands in summer.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false

Answer: Option A

Assertion (A) : When common salt is kept open, it absorbs moisture from the air.
Reason (R) . Common salt contains magnesium chloride.

A. Both A and R are true and R is the correct explanation of A. B. Both A and R are
true but R is NOT the correct explanation of A. C. A is true but R is false. D.Ais
false but R is true. E. Both A and R are false

Answer: Option A
JOIN OUR GROUP ON

SITUATION TEST Face b 00 k

Select the most appropriate alternative as the answer.

You are walking down the street and suddenly you see two hundred rupee notes
on the pavement. What action will you take?

A. Pocket it yourself. B. Leave it where it is. C. Give the money to a beggar.
D. Deposite it in the nearest police station.

Answer: Option D
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You have made some silly mistakes which have been pointed out to you. You will .

A. laughitaway.  B.getangry. C.feel miserable.  D. feel thankful.
Answer: Option D

You are moving across the road on a scooter when you observe that two boys on a
bike snatch a lady's gold chain and ride away. You would .

A. console the woman. B. chase the boys to catch hold of them. C. inform the
police about the matter.  D. stand and see what happens next.

Answer: Option B

On reaching the railway station, you find that the train you wanted to catch is just
to start and there is hardly any time for purchasing the ticket. The best thing for
you is to .

A. rush to the train rather than miss it and inform the T.T.I. at the next stoppage about
your inability to purchase the ticket. B. rush to the train and perform your journey
quietly. C. first purchase the ticket and then catch the train if it is there. D. miss
the train rather than take the risk of boarding the moving train.

Answer: Option A

You are returning home from school. On the way, you find a sealed envelope in a

street, fully addressed with unused stamps on it. You would .

A leave it there as it was and walk away. B. remove the stamps and destroy the
envelope.  C.open the envelope, find out who has dropped it by mistake, and send it to
him if possible.  D. post it at the nearest letter box.

Answer: Option D

If in the examination hall, you find that the question paper is too tought to be
answered satisfactorily by you, the best thing to do for you is to .

A. tell the examiner that the questions are out of course. B. provoke the candidates to
walk out of the examination hall. C. try to know something from your neighbour.
D. try to solve the questions as much as you know with a cool head.

Answer: Option D

Your bathroom tap is leaking and is a constant source of irritating noise. You
would .
A. sleep with pillows upon your ears.  B. put a bucket underneath  C.trytoputupa

cork upon the mouth of the tap.  D. call a plumber to repair the tap.
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Answer: Option D
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You find a lady's purse dropped on the road and on
pocking it up, find a thousand rupees inside. You would .
A. take the purse away. B. take out the money and leave the purse there.

C. deposite it at thenearest police station. D. stand there and wait for the owner.
Answer: Option D

While sitting in a park, you obeserve that a smart young man comes to the place
on a scooter, leaves it there and goes away with someone else on a motorbike.You
would .

A. chase the person. B. inform the police at the nearby booth. C. call back the
person.  D. remain engaged in your enjoyment.

Answer: Option B

You are in a bus. The bus reaches your stop but still you have not purchased the
ticket because of heavy rush.What will you do?
A. Jump out quickly to avoid embarrassment. B. Call the conductor,give him the
money and get the ticket. C. Hand the money to someone sitting nearby to give it to
the conductor.  D. Give the money to the driver.

Answer: Option B

While you board a train at the station, you find a suitcase beneath your seat. You
would .

A. report the matter to the police. B. open up the suitcase to look through its contents.
C. try to find out the address of the owner from the paper etc. in the suitcase. D. finding
no one to claim it, take it into the own possession.

Answer: Option A

While firing crackers, a child gets severs burns on the hand. What would you do?
A. Dip the child's hands in cold water till there is no more burning sensation. ~ B. Wash
the hands with dettol.  C. Send someone to call the doctor.  D. Apply some ointment

on the affected area.
ANDROID AFPP ON
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You find that the person whom you call your friend has been cheating you. What

would you do ?
A. Break relations with him. B. Give him tit for tat. C. Make him realise his
mistake. D. Tell other friends about him.

Answer: Option C

While attending your friend's party, you see your friend's muffler catching fire
from the candle on the table behind him. You would .

A. ask your friend to see behind him. B. rush to call friend's mother. C. rush and
taking out the muffler from his neck, drop it and pour water on it. D. take out the
muffler and throw it away.

Answer: Option C

Your friend is not invite you to his marrige party. You will .
A. hold it against him. B. attend the ceremony. C.send him your best wishes.
D. ignore the whole affair.

Answer: Option C

While travelling in a train, you observe some college students pulling the alarm

chain simply to get down at their desired point. You would :

A. with the help of some passengers , check them from doing so. B. let them pul the
chain but check them from detraining. C. inform the guard of the train as soon as it
stops. D. keep quite and do nothing.

Answer: Option A

You are driving your car on the road when you hit against a fruit vendor's cart.
You would .

A. escape from the site by driving away. B. abuse the fruit vendor for putting his cart
on the way. C. pay the fruit vendor for the damage done to him. D. insist that it
was not your fault.

Answer: Option C

You are the guest at a dinner. The host asks you to take one more chapati after
your stomach is full. You would .

A. make a blunt refuse. B. take the chapati. C. politely say that the food was too
good and you have already eaten much.  D.make a bad face at him.

Answer: Option C
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You are passing by a river and you know a swimming. suddenly, you hear the cry

of the drowning child. You would .
A. dive into the river to save him.  B. wait to see if some other person is there to help.
C. look for professional drivers. ~ D. console the chile's parents.

Answer: Option A

You are playing in your friend's house,when he gets stuck with a nacked electric
wire. You would .

A. hold him by the arms and try to set him free. ~ B. hold the wire and pull it away.

C. pull off the wire with a wooden stick.  D. send for the doctor.

Answer: Option C

You are interviewed for a new job. Which of the following questions is most
important to you ?

A. Opportunities for promotion B. Remuneration you will be paid C. Scope to
develop your ideas and use them to improve the working of the organisation D. All
the above are equally important

Answer: Option D
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	In 'Completing The Analogous Pair', two words are given. These words are related to each other in some way. Another word is also given. The candidate is required to find out the relationship between the first two words and choose the word from the giv...
	Moon : Satellite : : Earth : ?
	Forecast : Future : : Regret : ?
	Influenza : Virus : : Typhoid : ?
	Fear : Threat : : Anger : ?
	Options:

	Melt : Liquid : : Freeze : ?
	Clock : Time : : Thermometer : ?
	Muslims : Mosque : : Sikhs : ?
	Paw : Cat : : Hoof : ?

	Eye : Myopia : : Teeth : ?
	Tractor : Trailer : : Horse : ?

	Scribble : Write : : Stammer : ?
	Flower : Bud : : Plant : ?
	Errate : Books : : Flaws : ?
	Gun : Bullet : : Chimney : ?
	Breeze : Cyclone : : Drizzle : ?
	Car : Garage : : Aeroplane : ?
	Race : Fatigue : : Fast : ?
	Candle : Wax : : Paper : ?
	Acting : Theatre : : Gambling : ?
	Venerate : Worship : : Extol : ?
	Water : Convection : : Space : ?
	Growth : Death : : Increase : ?
	Oxygen : Burn : : Carbon dioxide : ?
	Dog : Bark : : Goat :?
	Grain : Stock : : Stick : ?
	Nurture : Neglet : : Denigrate : ?
	Planet : Orbit : : Projectile : ?
	Genuine : Authentic : : Mirage : ?
	Cobbler : Leather : : Carpenter : ?
	Rupee : India : : Yen : ?

	Doctor is related to Patient in the same way as Lawyer is related to ?
	Museum is related to Curator in the same way as Prison is related to ...
	Soap is related to Wash in the same way as Broom is related to ...

	Wax is related to Grease in the same way as Milk is related to ...
	Bread is related to bakery in the same way as Brick is related to ...

	Sword is related to Slaughter in the same way as Scalpel is related to ...
	Life is related to Autobiography in the same way as Witness is related to ...
	Chef is related to Restaurant in the same way as Druggist is related to ....
	Jade is related to Green in the same way as Garnet is related to ......
	Dancer is related to Stage in the same way as Minister is related to ...

	Ecology is related to Environment in the same way as Histology is related to ...
	Life is related to Death in the same way as Hope is related to ...
	Hooke is related to Cells in the same way as Mulder is related to ...
	Needle is related to Thread in the same way as Pen is related to ...
	Sword is related to Slaughter in the same way as Scalpel is related to ...
	Birds is related to Aviary in the same way as Bees is related to ...
	Resign is related to Politician in the same way as Abdicate is related to ....
	Scissors is related to Cloth in the same way as Scythe is related to ......
	Gardener is related to Trowel in the same way as Seamstress is related to
	Prose is related to Writing in the same way as Lisp is related to ......
	Cub is related to Tiger in the same way as Fawn is related to ......
	Sirius is related to Star in the same way as Cygnus is related to ......
	Radical is related to Moderate in the same way as Revolution is related to ......
	Mathematics is related to Numbers in the same way as History is related to
	Bag is related to Luggage in the same way as Ship is related to ......
	In 'Choose The Analogous Pair' type, a pair of words is given, followed by four pairs of words as alternatives. The candidate is required to choose the pair in which the words bear the same relationship to each other as the words of the given pair bear.
	Numismatist : Coins

	Agenda : Meeting
	Embroider : Cloth
	Defunct : Life
	Knife : Chopper
	Train : Track

	Surgeon : Scalpel
	Yawn : Boredom
	Cells : Cytology

	Elevated : Exalted
	Birds : Aves
	Curtain : Drapery
	Badminton : Court
	Crache : Infants

	Dusk : Night
	Triangle : Hexagon
	Teeth : Chew
	Cat : Mouse
	Cereals : Grit
	Balance : Weigh
	Shield : Soldier
	Chaff : Wheat

	Theft : Confess:
	Fish : Shoal
	Canvas : Painter
	In Choose A Similar Word type, a group of three words is given, followed by four other words as alternatives. The candidate is required to choose the alternative, which is similar to the given three words.

	Calf : Kid : Pup
	Ohm : Watt : Volt
	Peas : Gram : Pulses
	Jute : Cotton : Wool
	Diamond : Sapphire : Ruby
	Clutch : Brake : Horn
	Potato : Carrot : Raddish
	Canada : Chile : Germany
	Violet : Orange : Yellow
	Marble : Slate : Gneiss
	Hair : Grass : Fur
	Pituitary : Thyroid : Pancreas
	Liver : Heart : Kidney
	Shark : Cod : Eel
	Sodium : Potassium : Zinc
	Root : Stem : Branch
	Patna : Bombay : Dispur
	Basket : Pail : Pan
	Edge : Corner : Tip
	Hokaido : Honshu : Shikoku
	In Detecting analogies questions, the candidate is required to trace out hidden analogy or common characteristic among given words or to choose word which possesses the same characteristic as the given word.

	Sandstone : Limestone : Coal
	Analects : Zend Avesta : Torah
	Mars : Mercury : Venus
	Gnu : Emu : Curlew
	Chain : Link : Bridge
	Sweep : Scrub : Wipe
	Delhi : Agra : Methura
	Knight : Rook : Bishop
	Crocodile : Chameleon : Tortoise
	Hiss : Hoot : Trumpet
	Press : Television : Cinema
	Coments : Stars : Satellites
	Canoe : yacht : Dinghy
	Rinderpest : Anthrax : Diarrhoea
	Yeats : Ghalib : Kabir
	Vesuvius : Etna : Kilimanjaro
	Hamlet : Macbeth : Faustus
	Barauni : Digboi : Ankleshwar
	Aorta : Pulmonary : Ventricle
	Viper : Krait : Mamba
	Assertion (A) : Bangladesh imports jute from India. Reason (R) : Bangladesh has most of the jute mills.
	Assertion (A) : Carbon monoxide when inhaled causes death. Reason (R) : Carbon monoxide combines with haemoglobin.
	Assertion (A) : We feel colder on mountains than on plains. Reason (R) : Temperature decreases with altitude.
	Assertion (A) : Inside the earth metals are present in molten state. Reason (R) : Earth absorbs the sun's rays.
	Assertion (A) : There is no vaccine for AIDS. Reason (R) : The AIDS virus changes its genetic code.
	Assertion (A) : In India, people elect their own representatives. Reason (R) : India is a democracy.
	Assertion (A) : Vaccines prevent diseases. Reason (R) : Vaccines must be given to children.
	Assertion (A) : Downpour of rain lessens the humidity in the atmosphere. Reason (R) : Rains are caused when atmosphere cannot hold more moisture.
	Assertion (A) : Unpolished rice should be eaten. Reason (R) : Polished rice lacks Vitamin B.
	Assertion (A) : Bats can fly in the night. Reason (R) : Bats emit ultrasonics.
	Assertion (A) : Razia Sultan was the daughter of Iltutmish. Reason (R) : Iltutmish was a rebel.
	Assertion (A) : Silver is not used to make electric wires. Reason (R) : Silver is a bad conductor.
	Assertion (A) : Gandhiji withdrew the non-cooperation movement. Reason (R) : There was violence at the Chauri Chaura outrage.
	Assertion (A) : Carbon forms the largest number of compounds. Reason (R) : Carbon has the catenation property.
	Assertion (A) : Uttar Pradesh is called the 'Sugar Bowl' of India. Reason (R) : Uttar Pradesh is the leading producer of sugarcane.
	Assertion (A) : When the bus starts, the person inside it falls forward. Reason (R) : The bus pushes the man forward.
	Assertion (A) : Glass tumbler breaks in winter when hot water is poured in it. Reason (R) : When hot water is poured, the outer surface of glass expands.
	Assertion (A) : Carbohydrates provide energy to the body. Reason (R) : Obesity is caused by excessive intake of carbohydrates.
	Assertion (A) : In India, females have higher life expectancy than the  males. Reason (R) : Females receive a better diet.
	Assertion (A) : The Indian Constitution came into force with effect from 26th January, 1950. Reason (R) : 26th January is celebrated as the Republic Day.
	Assertion (A) : Appendix is a vestigial organ in human body. Reason (R) : It does not participate in digestion.
	Assertion (A) : Himalayas Once laid under the sea.  Reason (R) : Fossils of marine creatures are traced on the Himalayas.
	Assertio (A) : Shivaji developed the guerilla warfare. Reason (R) : Shivaji feared the Mughals.
	Assertion (A) : Legumes revive the soil fertility. Reason (R) : Microbes in the root nodules of legumes fix the atmospheric nitrogen.
	Assertion (A) : An atom is neutral despite the charged particles in it. Reason (R) : The neutrons do not have any charge.
	Assertion (A) : The steam engine was invented by James Watt. Reason (R) : There was a problem of taking out water from flooded mines.
	Assertion (A) : Increase in carbon dioxide would melt polar ice. Reason (R) : Global temperature would rise.
	Assertion (A) : Tamil Nadu gets most of the rainfall in winter. Reason (R) : Tamil Nadu gets rainfall from retreating monsoons.
	Assertion (A) : Graphite is slippery and used as a lubricant. Reason (R) : Graphite has free electrons.
	Assertion (A) : In India, the judiciary is independent of the executive. Reason (R) : Judiciary favours the government and helps in the implementation of its plans.
	Assertion (A) : An iron ball floats on mercury but gets immersed in water. Reason (R) : The specific gravity of iron is more than that of mercury.
	Assertion (A) : Copper is used to make electric wires. Reason (R) : Copper has very low electrical resistance.
	Assertion (A) : Uranium undergoes nuclear fusion reaction. Reason (R) : It has a big, unstable nucleus.
	Assertion (A) : A little gap is left between iron rails. Reason (R) : Iron expands in summer.
	Assertion (A) : When common salt is kept open, it absorbs moisture from the air. Reason (R) : Common salt contains magnesium chloride.
	You are walking down the street and suddenly you see two hundred rupee notes on the pavement. What action will you take?
	You have made some silly mistakes which have been pointed out to you. You will :
	You are moving across the road on a scooter when you observe that two boys on a bike snatch a lady's gold chain and ride away. You would :
	On reaching the railway station, you find that the train you wanted to catch is just to start and there is hardly any time for purchasing the ticket. The best thing for you is to :
	You are returning home from school. On the way, you find a sealed envelope in a street, fully addressed with unused stamps on it. You would :
	If in the examination hall, you find that the question paper is too tought to be answered satisfactorily by you, the best thing to do for you is to :
	Your bathroom tap is leaking and is a constant source of irritating noise. You would :
	You find a lady's purse dropped on the road and on pocking it up, find a thousand rupees inside. You would :
	While sitting in a park, you obeserve that a smart young man comes to the place on a scooter, leaves it there and goes away with someone else on a motorbike.You would :
	You are in a bus. The bus reaches your stop but still you have not purchased the ticket because of heavy rush.What will you do?
	While you board a train at the station, you find a suitcase beneath your seat. You would :
	While firing crackers, a child gets severs burns on the hand. What would you do?
	You find that the person whom you call your friend has been cheating you. What would you do ?
	While attending your friend's party, you see your friend's muffler catching fire from the candle on the table behind him. You would :
	Your friend is not invite you to his marrige party. You will :
	While travelling in a train, you observe some college students pulling the alarm chain simply to get down at their desired point. You would :
	You are driving your car on the road when you hit against a fruit vendor's cart. You would :
	You are the guest at a dinner. The host asks you to take one more chapati after your stomach is full. You would :
	You are passing by a river and you know a swimming. suddenly, you hear the cry of the drowning child. You would :
	You are playing in your friend's house,when he gets stuck with a nacked electric wire. You would :
	You are interviewed for a new job. Which of the following questions is most important to you ?


